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Unit 2:  Mean, Median, and Mode

Assessment #1

I.
Find the mean, median, and mode for the set of data. Round decimals to the nearest hundreth.

1.
Number of students in 9 classes:  25, 21, 18, 26, 31, 22, 25, 32, 25, 25, 25, and 25.



Mean:  _____

Median:  _____
Mode:  _____

2.
Number of girls in 8 classes:  11, 9, 14, 17, 21, 14, 10, and 12.



Mean:  _____

Median:  _____
Mode:  _____

3.
50-yd dash times for 8 racers: 5.9, 6.3, 6.6, 6.9, 7.1, 7.5, 6.5, and 6.1.



Mean:  _____

Median:  _____
Mode:  _____

4.
200-yd dash times for 7 racers:  22.8, 25.9, 28.6, 30.1, 24.3, and 22.1.



Mean:  _____

Median:  _____
Mode:  _____

5.
Average scores of 9 students: 63, 77, 65, 70, 81, 85, 65, 78, and 73.



Mean:  _____

Median:  _____
Mode:  _____

6.
Quiz grades of 8 students:  71, 78, 83, 94, 84, 81, 72, and 68.



Mean:  _____

Median:  _____
Mode:  _____

7.
Cost of 5 items from a grocery store:  $1.95, $2.08, $5.89, $.50, and $.75.



Mean:  _____

Median:  _____
Mode:  _____

8.
Cost of 6 items from a department store: $10.00, $11.99, $17.50, $19.99, $5.00, and $3.00.



Mean:  _____

Median:  _____
Mode:  _____

9.
Points scored by a baseball team in 5 games:  6, 3, 0, 1, and 5.



Mean:  _____

Median:  _____
Mode:  _____

10.
Home runs scored by 7 baseball players: 411, 500, 280, 188, 310, 350, and 150.



Mean:  _____

Median:  _____
Mode:  _____

II.
Find the missing piece of data that will produce the given mean.

11.
Mean: 7 – 3, 3, 5, 5, 6, 6, ___


12.
Mean: 8 – 6, 6, 4, 4, 7, 7, 7 ___

14.
Insert a number so that the median is 13:  7, 19, 12, 20, ___

III.
Solve.

13.
Kenneth saw boxes of cereals in the store with the following prices: $1.99, $2.49, $1.49, $1.19, $1.49,


and $2.09. What is the median?
__________

15.
In the previous exercise, what is the mean for the prices of the cereal? What is the mode?



Mean:  __________


Mode:  __________
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